® xy(x-y)

X3y —xy? = xy(x® - y?) = xy(x + y)(x - y)




X
[e]
'C?

xR

20 A

OEE'E/\

x+2)(x+4)(x+6)+16 = A2l Sh= Tgoltt. () Sl
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




® x*+1




x+y

4.

© x?+y*=2

2:_1

—~

~—

©

@ x%y+xy? = -2

AR A

+ o+
— R A=

© @

0.0 26006 006 @Doe 606

4-4=0

= (x+y)? —day =

Q (x-y)?




theoll Fo13 7 Ao tigt A ez E4 A2

A = a?b - ab?
B = a3 - ab?

@ 4 A 9 Q5 7 Aelet.
® (a+b) £ 4 B 9 Aolct.

® A B 9] 94 7 7ol

@) 41 A 941 B 9] BB A5E (a-b) oIk,
® ab =4 A o] Aseolct.

B

A = a®’b - ab® = ab(a - b)

B =a®-ab® = a(a® - b*>) = a(la-b)(a +b)

A A 9 Q1= a, b, (a—b), ab, a(a—b), b(a—b), ab(a - b)
o|B & 7 7joltt.

2 B9 Q14==a, (a—b), (a+b), a(a—b), a(a+b), (a—b)(a+b),
ala—b)(a-+b)o1B2 T7oIT}




A d(p+q)* - 4Alp + q)p + p* = 15Eslsto] S| e
?

L
flo o

@ (p+aq)° @ (p+ 20’ ® (2p+4q)°
@ (p-q)° ® (p-29)°

B

p+q=1t2 X2sIH

4p+q)° -4(p+qp+p° =4 —41p + p?
= (2t- p)®
= (p+29)°




7. (a—-b-2c)(a-b+5c)—30c* & EalotH?

® (a-b+3c)(a—b-"Tc) @ (a-b+4c)(a—b+5c)
@(a—b—Bc)(a—b+86) @ (a-b+5c)(a—b-8c)
® (a-b-2c)(a-b+4c)

B

a-b=t2 =0,
(a=b-2c)(a—-b+5c) - 30c?
= (t—2¢)(t + 5¢) — 30c?

= 12 + 3ct - 40¢?

= (t—5¢)(t+ 8¢)
=(a—b-5¢c)(a-b+8)




8  (Bx+1)2-(2x-3)2=(x+a)(x+b) ™, a-b 2] F?

® 5 @-1 G- @®@-10 -1

(Bx+1+2x-3)B3x+1-2x+3) = (bx—2)(x+4)
a=-2,b=14
La—-b=-6




o x(x+ D) (x+ 2)(x + 3) + 1 & A5E5fotA?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(2 +32)(x? + 3x +2) + 1

x*+3x=A 2 5tH

AA+2)+1 =A242A+1=(A+1)?
= (x® +3x+1)2




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)

s




11.

a®=3a®—a+3°la A7t A A LA Ho=

ul, A AAA) T 17

® 3(1-a) @ 3(a-2)
@361—1 @a3—3

(@)3a—3

B

a*(a-3)-(a-3) =(a®>-1)(a-
=(a+1)(a-
SERP EEREE

3)
D(a=3)

(a+1)+(a-1)+ (a—3) =3a-3 ot}




12, o2 5 422 - 92 —30y—25 9] Q157 & &

‘%‘:9.
rr
Y
tlo
!
4n
R
k)
D

> g
> g
> e ©
> He: @

4x? —9y? =30y — 25

= 4x* - (9y* + 30y + 25)

=4x% - (3y +5)2

— (2x)2 - (3y +5)°

=(2x+3y+5)(2x—3y-5)

wakA e (2x+3y+5) & (2x—3y—5) 2F (2x+3y+5)(2x—
3y —5) o|th.




13. 2+ 3xy—x-6y-2 5 A3l ot¥ (x - 2)(ax + by + ¢) ©|Th.
a+b+c o gt= TorefEt
> E

> & a+b+c=5

B ~

x? + 3xy —x — 6y — 25 x°f Tl FlstH
x4+ By-1)x-23y+1) = (x—2)(x+3y+1)
ca=1,b=3,c=1

“a+b+c=5




14. x* - 2xy+y*-5x+5y+4 & 5=ofstH?

@(x—y—4)(x—y—1) @ (x_y+4)<x_y+1)
@ (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)

x2 = 2xy + y* - bx + by + 4
= (x=y)? = 5(x—-y) +4
=x-y-4)(x-y-1)




15. a=3v2-2v3,b=V2+ V3< ©, 2v3a - 6 V2b 2] 72?

@24 ©-2 212 @u 60

B

2V3a - 6V2b
=23 (3V2-2+3) -6v2(V2+ V3)

=6v6-12-12-66
=-24




16. x-y=4, xy=12 ), x2+xy+)? & Fatoiet
=

>
> &= 19

od -

P+xy+y? = (x-y)2+3xy
=424+3x1
=16+3=19




17. a—14 \/i,bzl—\/i%_“ﬂi,g—gﬂ%k%?

O -4+2 @ -2+2 ® 22
@4«/5 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1

a+b=(1+V2)+(1-+V2)=2

a-b=(1+V2)-(1-V2)=2+2

b -a> —(a+b)(a-b)
ab

42

==
_—2x2v2
==

QS
SR




18. a-2b=3 < W, a® — 3a + 4b> + 6b — 4ab + 2 2] FFS AAtsto =},
et

>
[> o= 2

ok =

a® — 4ab + 4b> — 3a + 6b + 2
= (a—-2b)*> =3 (a—2b) +2
—32-3x34+2=2




2 12 -
19. w42 =33 32+ ; o Gk Fatolek
=F

>
> HMeh: 42

W= = (x+g)2—4
X
— (3v2)" -4
=18-4
=14
.'.3x2+§:3<x2+%>
=3x14
=42




20. A2 o2 F 4y, y ol tete] 5x2 — 10xy + 5y% = 2x — 2y &) TA7}
AEE Y, x—y Y o= T2 AS TE2HN(H, x+y #£0)

1 2 3
o: ©@: ® : @

[SAR I

®1

B \

FH: 5(x2 - 2xy +?) =5(x—y)?,
W 2x -2y =2(x-y)
S5(x—y)=2(" x#y),

2

x—ng




21.

x=2+ V2, y=2v2-3 4 u], 3x? - 10xy + 3y* <] 7S F51H?

D 89-312 @ 89-3242 ® 89-33v2
@89—34«/5 ® 89 -35+2

B

3x% — 10xy + 3y% = (3x —y)(x - 3y)
= {32+ v2) - (2V2 - 3)}
{2+ v2)-32v2-3)} = (9+ v2) (11-5V2)

=99 -45v2+11v2-10
— 89— 342




Eo] stret A27t ZH2t x +y , 20+ 1 1 KA Fu7}
2x3 + 2x%y + 7x% 4 Txy + 3x + 3y °|tf. ASHA| G g HA 79
4ol& stofzt.

cCh "
=

>
> ®et: 5

oHd =

B )
y ofl Bafo] WAheo 2 Hofst
(F4) = (2% + 7x + 3)y + 2x3 + 7x? + 3x
(2x% + Tx+ 3)y + (2x% 4+ Tx + 3)x
= (x+y)(2x*> + Tx+ 3)
= (x+y)(2x + 1)(x+ 3)
AEHAo|l Bz
x+y=2x+1=x+3
2x+1=x+3
x=2,y=3
(& 2AE 9 do])
=x+y=2x+1=x+3=5

||
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lleS
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>
i
S
=
+
S
)
st
£
m
+
SH
I
w
ro

il

@ 2(3x+2) + (2x—1) (3x+2)
O 2x(2x+1) - 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x2+7x+6

o

0z
m m

v v v vvyVvyvyy
0
L

0x
i

0%
i
@ O®© © O

B

2
e

@2Bx+2)+(2x-1)Bx+2) =(3x+2) (2x+ 1)
O 2x(2x+1)-3(1+2x) = (2x+ 1) (2x - 3)

® x+2)(x-1)-2(x+2)=(x+2)(x-3)
@®x2—dx+4=(x-2)?

@ 2x%+Tx+6=(2x+3) (x+2)




= 4
24. 24 V3O A TEE 2% RSy AT, (1- D)+

of g FotofaL,
>

> Het: 6

B

3<2+ V3 <40]8
2+ V3 o JLRE
x:3,y:\/§—1

(- i)

=2
2 3, A4HEE2 V3-10o[th

L4
V3-1

i 1(B)
ST




| 2
> ®™E. —8ab

(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab




A

26. o & Ae?

oo
Tlo
tlo
ru

= Rt

@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)




27, -9x* +y* 4+ 6xz -2 & AFRAMFAHY (ay - 3x+2)(y + bx + ¢2)
7v H ik, oldl, A4 a, b, ¢ ol H5ke] a+ b+ ¢ O] gk& F5HA?

@ 1 @ 2 (@)3 @ -1 © -2

B

-9x% +y? 4+ 6xz — 22

=y% - (9x2 — 6xz + 2%)

=y - (3x-2)°
={y-Bx-2)} {p+Bx-2)}
={y-3x+2)(y+3x—2)
a=1,b=3,c=-1
sLa+b+c=3




28.

© dr13 @4x ® 4x-13
@ 2x*>-13 B 242 +5

X~ 1822 4 36= (x2 = 9)(x" ~4)
=(x+3)(x-3)(x+2)(x-2)
- (PR ASE )

—x+34+x—-3+x+2+x—2=4x




29.

By =-2 xy=-14 0, x+y°] G ool (Fx<y)
=1
[—

>
> AP x+y=0

o] & a5t
B-1r?+2-3t+2=0,
2t-1)+(t-1)(t-2)=0
(t=1)2(t+2) =0
x—-y=-2(" x<y)

(x+y)? = (x-y)* +4xy 0| B2
(x+y)?=(-2)2+4(-1)=0

T x+y=0




a, b, ¢ 74T ) A o] Zoldd
ofch. ofu], o] 42HeL of W AZFEIA] PR (W, a, b, ¢ 7
718 o] A el Zololt)

Sy
w
_l_
Sy
[
[
+
>
[
™)
|
N
DN
S
_|_
[
w
|
N
DN
&
Il
o

@ 47rdel 9 % glnt @ o5z
B)/A L A7 AZGRE @ B 7} A7) A2

b3 + b%c + be? — a®b + ¢ - a’c
=b%(b+c)+ b(c? —a®) + c(c? - a?)
=b%(b+c)+ (b+c)(c? —a?)
=b+c) (b +c2-d*)=0

b, = 7o) o] Loo|nz Folet,
o2t b2 + 2 —a? =0, b% + 2 =a?

/A 7} AZrel A ZPAFZFS o]t}

b i B = |




2x+2)2 +2(y-3)2 ol 71 T
31. 1 20-3) =4 4 o, x—y 9 & Foltofet

[
= ]

>
> AP x—y=-5

&8

x+2=X, y-3=Y & X&o}H
2x+2)2 +2(y-3)?  2x>42r?
(x+2)(y-3) XY
2X%2 —4XY +2Y? =0, (X-Y)? =0
X-Y=x+2-y+3=0

L x-y=-5

4




32.

a4 10t -1 9 oF9] A5

@ 1070 @127]1 @ 1671 @ 2471 ® 2871

B

10 -1 = (102 + 1)(10% - 1)
= (102 +1)(10 4+ 1)(10 - 1)
=101x11x9
=32x11x101

whebA] SRo] S (24 1)(1+ 1)1+ 1) = 12(7)




33. at+b=4,a>-b>=20 2 W, a-b 9 G F3teit,

(a+b)(a-b)=ada®-b*>0|B2
4% (a—b) =20
a-b=5




